Answer Key

Practice A

1. ABisnot defined. 2. AB isdefined; AB:
3x 3 3. ABisdefined; AB: 2 x 1

4. ABisdefined; AB: 3 x 2 5. ABisnot
defined. 6. ABisdefined; AB: 3 x5 7. ABis
not defined. 8. ABisdefined; AB: 2 x 4 9. AB
isdefined; AB: 1 x 1 10. (4)(2) + (—2)(3);
(A1) + (=2)(=2); (4)(0) + (—2)(4)

11. (=2)(—=4); (=2)(6); (3)(—4); (3)(6)

12. (2)(=1) + (1)4); (0)(=1) + (—=3)(4)

13. [14] 14.[1 O] 15.[2 1]

3 —12 -2 3
16. [1 _4] 7. [_4 6}

18. The matrices cannot be multiplied because

N

the number of columnsin [é] does not equal the

number of rowsin [1 _2}
3 1l

19. [_; 2] 20. [—13] 21. [_i ﬂ

Opening night [ $2220
22.  Second night $2525
Final night | $2972.50



